2
1 O Vref
(a) v,
I v
Rot( e, R
-Qe€+= T < Y‘. (V- is terra virtual )
(3 _ v
Vegr = ¢ - IR =%
Vo = Vg, * Ve \Y
KT
VEE2= 'iln :—.:f when Viav O
/-. T
Veef R _
Vx = V:_T' \v\ ( ""’/"E\> ex. Rl‘ rzz
5 P Vi= 10 Veef = 10V
Vx & 60 w1V - Cowpare
Vief=-Vx = 094 V  inshaed of | V
(6% ercor in  calculation)
Av}:- —‘%\n ®g¥ = ~ 16 wV
Vo = R+ 2 A V)= t& < 9
° R3 - =) )'\7{ fo * 0o 2.7%
Re+R;, Kk Vil R Ro+Ry UWT v R
. = i"—; :)V\(‘_’ '>_ -“.—-»3 - h{_~—£
Q; 1 V\ ’za RZ YA Vr(.F (l‘
(¢ T
) Vo = [ Rz Lod [‘21,?7’23) C— Egj‘k ( ‘233 [\4.{T)~[23¢)
T
de dlcm /&J’ d(cg) dns
ar QT ar + =
d R3
- il _ T
= SR c na? x R3
av;
a0 = < _ A
ar T2V —xT)so = =3

@/2



FP.2 E-1
(d) p. v de Sebenta Rog = R
V. = \/" (opawmp icl.eq])
AV V+ = - QﬂIB
I, = (vi=V)/ri = (Vi+Royr Tk )/R1
I = L-T,- \_/_l [z_oﬁ - T,
cl = - X
Vi
Ri= Reff = IC|= /[?‘
22 awphficador and-logartitmico exponenitial)

Vof

B ep B2 R )
RZ - P KT 123+r2.,
R AL )
Vo = R, Vel exp( KT R+R,
lo) Vi=o = v, = —‘23 \/”c teoricgwunte
? . + ’ V - E& V
para Vi =o ajuskar o po%wc|ome+ro ate’ gue V= 2, ref




